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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

SECTION–A/

(Long Answer Type Questions)/

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2×19=38)
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1. What is Matrix ? Explain different types of matrices with
examples in detail.

2. Explain the concept of whole sale price  index number and
consumer price index number with example.

3. Find dy/dx from the following functions :

(i) y = 15x3

(ii) y x x22 3 4� � �

(iii)
x

y
x b

4 5��
�
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(iv) y = (2x + 3) (3x – 4)

(v) xy e
3

/ 3� .

dy/dx

(i) y = 15x3

(ii) y x x22 3 4� � �

(iii)
x

y
x b

4 5��
�

(iv) y = (2x + 3) (3x – 4)

(v) xy e
3

/ 3� .

4. Calculate Karl Pearson's coefficient of correlation between
the two series given below :

x 60 62 64 66 68 70 72

y 61 63 63 63 64 65 69

x 60 62 64 66 68 70 72

y 61 63 63 63 64 65 69
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SECTION–B/

(Short Answer Type Questions)/

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4×8=32)

1. Describe the advantages of diagrammatic representation of
statistical data.

2. Find the values of x and y if :

x y

x y

2 3 2

1 1 7

�� � � �
�� � � ��� � � �

x y

x y

x y

2 3 2

1 1 7

�� � � �
�� � � ��� � � �
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3. Find out arithmetic mean of the following observations of
x and y series :

x 15 19 18 28 15 21 30 32 11

y 40 20 22 11 15 35 23 22 11

x y

x 15 19 18 28 15 21 30 32 11

y 40 20 22 11 15 35 23 22 11

4. Mention sources of primary and secondary data.

5. Differentiate with respect of x :

(i) y = (6x – 7)4.

(ii) (5x + 7)2/5.

x

(i) y = (6x – 7)4.

(ii) (5x + 7)2/5.
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6. Calculate the value of the following determinant :

1 3 4

A 2 1 3

2 1 2

� �
� �� �� �
� �� �

.

1 3 4

A 2 1 3

2 1 2

� �
� �� �� �
� �� �

7. The nine items of a sample had the following values :

40, 82, 48, 54, 45, 50, 44, 58, 50

Does the mean of nine items differ from the assumed
population mean 46 ?

40, 82, 48, 54, 45, 50, 44, 58, 50

8. Define skewness. Explain the various measures of skewness.
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SECTION–C/

(Objective Type Questions)/

Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory. (10×1=10)

1. The problem error of coefficient of correlation is :

(a)
r21

0.6745
N

�

(b)
r21

0.6745
N

�

(c)
r21

0.4567
N

�

(d)
r21

0.4567
N

�
.

BAEC-301/EC-05 [ 7 ] [P.T.O.



8S-381-BAEC-301 EC-05

r21
0.6745

N

�

r21
0.6745

N

�

r21
0.4567

N

�

r21
0.4567

N

�
.

2. Lorenz curve is used to depict the following :

(a) Comulative frequency distribution

(b) Kurtosis

(c) Skewness

(d) Dispersion.
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3. Sum of squares of deviations is minimum when taken from :

(a) Mean

(b) Mediam

(c) Mode

(d) None of these.

4. Matrix which has equal number of rows and column is called

(a) Unit matrix

(b) Row matrix

(c) Square matrix

(d) Diagonal matrix.
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5. Rank correlation coefficient was given by :

(a) Karl Pearson

(b) Spearman

(c) Marshall

(d) Fisher.

6. If all the elements of a row (or column) of a determinant are
zero, its value will be :

(a) 0

(b) 1

(c) –1

(d) None of these.
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7. Method of investigation is :

(a) Census method

(b) Sample method

(c) Both of the above

(d) None of these.

8. In the computation of price index number, the price of the
base is assumed as :

(a) 100 (b) 200

(c) 400 (d) 300.

9. If the sample size is 10, then degree of freedom for ‘t test’
are :

(a) 10 (b) 9

(c) 8 (d) 11.
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t

10. A dice is thrown the probability of setting a 4 or 6 :

(a) 1 (b) 1/2

(c) 1/3 (d) 1/4.

1 1/2

1/3 1/4.
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